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QUESTION 1

Which statement is true regarding the DATA step?

A. The DATA step can only read raw data files.

B. The DATA step reads, processes and creates date
C. The DATA step can output only one data set.

D. The DATA step must be the first step in a program.

Correct Answer: B

QUESTION 2

Given the report shown below:

Which PROC PREQ step creates the frequency report?

A. proc freq data= cars;

tables make drivetrain;

run;

B. proc freq data= cars; tables make *drivetrain; run;
C. proc freq data- cars; tables drivetrain make; run;
D. proc freq data- cars; tables drivetrain* make; run;

Correct Answer: D
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QUESTION 3

Which statements read the input data set SASHELP. SHOES and create the output data set WORK. TOTAL?
A. data sashalp.shoes; out work.total;

B. data sashelp.shoes; output work.total,

C. data work.total; set sashelp.shoes;

D. data out=work.total; input sasholp.shoes

Correct Answer: A

QUESTION 4

Given the code shown below:

What will be the format for MSRP in the RPOC PRINT output?

A. There is a syntax error in the FORMAT statement in the PROC PRINT step.
B. Commal2. 2

C. Dollar10.

D. Dollar12.

Correct Answer: D

QUESTION 5

Which iterative DO statement is invalid?
A. Do 100 to 1200 by 100;

B. Donum=1.1t01.9 by 0.1;

C. Do year = 2000 to 2016 by 2;
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D. Do reverse =10 to 1 by -1;

Correct Answer: A
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